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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 F¥ 2017 F g F Av Fuw Ay Fgrmr e (H@ee) F w7 F B
FIAT g0 TR 227
Who took charge as the new Comptroller and Auditor General (CAG) of India in 20177

Ans g A

Question ID : 9864492295
Status : Answered
Chosen Option : 1

v &)
Rajiv Mehrishi

Q.2 4:37 EvET A1E & TAT W Aee & gE R w9 F gF & 99 e =27
VT FAT?
What will be the acute angle between the hour-hand and the minute-hand at 4:37 p.m.?

Ans x 1.18°

Question ID : 9864492773
Status : Answered
Chosen Option : 4

V2 835°
X3 6.5°
x 4185°

Q3 = 'w a1v Reredl # ¥ @O 20=g & T4 FL

qfieTr : E%ear ; HE

Question ID : 9864493639
Status : Answered
Chosen Option : 3

Select the related word from the given alternatives:

Examination : Success :: Matches :
Ans qaryg
1.
Attempt

SEIEY

X2
Prepare
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Q.4 a3 3 Fefrer & TIATT 3T F AT 5 : 4 F| 37 W AT I a1 3eThT HT
T 11 : 9 T M| TSATA F Terer &1 31y freer av 2

Present ages of Sai and Satheesh are in the ratio of 5 : 4 respectively. Three years hence, .
the ratio of their ages will become 11 : 9 respectively. What is Satheesh's present age in Chosen Option : 2

Question ID : 9864492573
Status : Answered

years?

Ans x 1.22
V224
X321
X 423

Q.5 & HAeT vt HhE & T F WY AT 2 Gl 0.5 e e g @
A=t AT et g

The kinetic energy of a ball weighing 0.5 kg moving with a velocity of 4 m/s will be:

Question ID : 9864493460
Status : Answered
Chosen Option : 3

Ans 12 EE.[

12 J
8 Sel
0o,

g4J
L =el
LY

LJ

16 STeT
Ka 0
16 J

Q.6 i
3% fRwed &1 77 w A & 7% 3Ry F e ww F v sageEa § s B BRI

Status : Answered
Chosen Option : 4

?
Ans
r 0 /

DA

X
/




x P\
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Q.7 3w ¥ fmw % 3gEn, afg Fe (1) Fear § A Fefaa 3w (V) R w
g ar

According to Ohm’s law, if current (I) increases and potential difference (V) remains
constant, then:

Ans
. SRR T ¢
resistance increases

Z_Faaﬁiarmm%

<
potential difference decreases
s gfadrer safafda wwar &
resistance unchanged

«AHﬁfrtTamg’rm%

resistance decreases

Question ID : 9864493606
Status : Not Answered
Chosen Option : --

8 3T & T U7 F Rhas LA A B2
How many atoms are present in one molecule of Ozone?
Ans x 1.2
X 21
V33
X 44

Question ID : 9864493547
Status : Answered
Chosen Option : 1

Q.9 g forew afiiar Rl o form Toeiiias &e 1 Joaid &1 o, fower
ag B NG T8 FEF & | Segis ded ¢ f&ar ar?

‘Which is the political party started by Telugu film actor Chiranjeevi, who later merged it
with the Indian National Congress?

Ans X, 7 Ao arét
Nava Nirman Party

2 ST SIES et
Andhra Pride Party
, A
| Telugu Desam Party
| T T=aA et
Praja Rajyam Party

x

x

v

Question ID : 9864492177
Status : Answered
Chosen Option :1

Q.10 m T ﬁ'

(- 9{19-(-2) x (- 8)} =7

Solve the following:

-H{19-(-2) x (-8)} =7
ans X 1,140
X 22140

Question ID : 9864492879
Status : Answered
Chosen Option : 2




Vs 12
X412
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O T & & i € e T O EEr g

Which of the following numbers is a perfect square?

Ans 1. 333
< 2327
X 3192
v 4 441

Question ID : 9864492500
Status : Answered
Chosen Option : 4

12 SaafafRg 4o 7 o9 31 $r gg=T Fi

6, 12, 20, 32, 42, 56, 72
Select the WRONG number from the given series.

6, 12, 20, 32, 42, 56, 72
Ans X1.72

< 2 56

320

v 32

Question ID : 9864494097
Status : Not Answered
Chosen Option : --

QB RrarsTFTT R TR AT R F B oot & Fa &

= ¥ @)

CEGEN
m%mﬁmmﬁ%%aﬁrqﬁ'?%l

HI I

. @er gy & araelg o ISP g@RT A FEA THE F
II. aftEes & 3w wrae off fRe & 3 aar wee

Consider the given statement and decide which of the given assumption(s) is (are)
implicit.

Statement:

The train fares have increased by 25% with immediate effect.

Assumptions:

I.  People still prefer travelling by train despite the increase.
II. Other modes of commutation may also increase their fares.

Ans x1_13ﬂ¢2aﬂ‘fﬁr‘%r-ra'€ré‘|

Neither assumption I nor II is implicit.
| e AT 2 e g

Only assumption II is implicit.
| e Fegar 1 A gl

Only assumption I is implicit.

x

v

Question ID : 9864494245
Status : Answered
Chosen Option : 3




RECFEC - 08

Both assumptions I and II are implicit.

x
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Q.14 Fig 3rel 7T 3 &7 15 T % om0 5 3K 9w 37 60 A o wet W emT
FAAT g1 TS T T 2,210 F 7999 HAr g, A IFHT AfhF s T

Veer spends 15% of his monthly income on the house rent and 60% of the rest on
household expenditure. If he saves T 2210, what is his monthly income?

Ans X1 F 8,000
X 2T 7,500
v 2 76,500
X 4T 7,000

Question ID : 9864492607
Status : Answered
Chosen Option : 3

Q.15 yrarafess ot # & A3 F i & Teat gar w73 A o e SR
&

Among chemical properties, Mendeleev concentrated on the compounds formed by the
elements with:

e e SR it
Hydrogen and Oxygen
FTEEIT 3R TifETs
Hydrogen and Sodium

FTeT AT TS

Carbon and Hydrogen
x . PO AR AR

Carbon and Sodium

X2

< 3.

Question ID : 9864493373
Status : Answered
Chosen Option : 1

g e arT 300 gar g |
reproduces by multiple fission.

Ans e

| Rhizopus

CATF AN ST

Plasmodium

CAA AT

Planaria

WHRT

- Yeast

Question ID : 9864493455
Status : Not Answered
Chosen Option : --

Q.17 2t gt &7 IUTAe 0.768 §1 e Te GerAeTe T 1.6 §, A gEd 56 A
Frfaw|
The product of two decimals is 0.768. If one of the decimal number is 1.6, find the other.

Ans X' 1.0.47
' 2 048
X 3037
X 4042

Question ID : 9864492561
Status : Answered
Chosen Option : 2

Q.18 wF #iT Vo Tk " H 20 IFFL @0 g1 25 e & e o8 e
T Tem?

A Lawn roller makes 20 revolutions in one hour. The radians it runs through 25 minutes is

Ans

Question ID : 9864492476
Status : Not Answered
Chosen Option : --
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O PrafafaT F7 # ¥ e feg #1997 Y

Ans

€ ¥ $ A

Select the odd character out of the following series.

€ ¥ 5 A

X1g
v A
K38
X4y

Question ID : 9864494305
Status : Answered
Chosen Option : 2

Q.20 Trfafae 0 & At (?) & FHe REe v sEn, w wn

Ans

FgafeuT #1 R oo Reet & & wdituT 38R # awT F
A, BC, DEF, GHIJ, ?

In the following series, one term is missing as shown by the question mark (?). Select the
missing term from the given options.

A, BC, DEF, GHIJ, ?
&< 1. XYZA
# 2 TUVW
X 3 PQRS
v 4 KLMNO

Question ID : 9864494147
Status : Answered
Chosen Option : 4

Q.21

Ans

AT & HUT AR (3hf3T Seelsie) W REAR R % T 2017 # G
TG d% 7 FedAla Hise FS' UYE AT &2

Which major bank has launched the “Unnati Credit Card” in 2017 to enhance credit
inclusion in India?

x ;T &

Axtis Bank
V> T H3TE.

SBI
X . WA H.HE. S
ICICI Bank
T A TEA &%
HDFC Bank

X4

Question ID : 9864492418
Status : Answered
Chosen Option :1

Q.22

Ans

wEfre & Tl w1 7FT Seee a6 Fe, e § ¥ 5 o ' A
grar &7

‘Which is the form of energy that does NOT occur while riding a bicycle?

Question ID : 9864493041
Status : Answered
Chosen Option : 4




| TTee S
Kinetic energy

FSHT FaAT
< 2
Heat energy
iy Far
X 3.
Mechanical energy

" TEATAE FaAm
Chemical energy

x
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Q.23 o e ST dw. (pH) A3 &) S/ e (pH) Jie Seoie 6 81 ST 8, a5 HY
3T T W et &1 ST 87
The pH of a solution is 3. When its pH changes to 6, then H*ion concentration:

s 2 T[T &g ST g

Ans

increases 2 times

. et [T 7 A 2

increases three times

. 1000 AT FHH & A B |

decreases 1000 times
, 100 T[T HEEIGIE

decreases 100 times

x

v

x

Question ID : 9864493070
Status : Not Answered
Chosen Option : --

Q.24 B :
T | e | Rifwe | sffwe | Qi e Question ID : 9864493954
i i w1 % Status : Answered
A 200 150 50 - Chosen Option : 4
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 25
T 71T Hewsl & HUR W, 0@ ¢ #F RET a@et a7 gt T (=
TAFSET T O Hier) |
City | Population | Literate | Illiterate | % of
literates
A 200 150 50 -
B - 200 100 66.6
C 150 50 100
D 120 - 90 25
Based on the given data, the percentage of literates in City C is (round to one
decimaly.
Ans X' 1.33.4
<2323
< 3345
v 4333
Q.25 FH FFEIT el WRARSA WEH-E § Jg-8Fads 3T A, ad seaar
F T T Al N Question ID : 9864492364

Name the Indian entrepreneur, co-founder and owner of India’s low cost airline SpiceJet.

Ans

Status : Answered
Chosen Option :1




v T IR
Ajay Singh
, T Aced
Vijay Mallya
X3 {de CICT
Ratan Tata
, e SR, ey
Captain G.R. Gopinath

x
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Q.26 &r a1 gfFw W e #{ 3K a7 F{ & & gf Humonst # & Fia @

Hafaa &

FfFa:

X, Y # T & ¥ afy 97 veue # 9o s wEan aear ¥ o s
HEHRTA HAT T

TEURO:

o

1. FENTEVH IoaH TEUA T TS F 8
2. X, Y E@R & 1% FeE G g

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
X advised Y that if he/she wants to study Management, he/she should join IIM.

Assumptions:
1. IIM provides good Management education.
2. X listens to the advice given by Y.

Faer TEUROT 2 affed gl
Only assumption 2 is implicit.
xzsrr-fr 1 3t 7 & 2 3T &

Neither 1 nor 2 is implicit.
e R 1 s ¥
Only assumption 1 is implicit.
n R 2 g&T EuRene afaka §

Both 1 and 2 are implicit.

F !

x

v

Question ID : 9864494070
Status : Answered
Chosen Option : 3

Q.27 T W Hr T 0T T HOS AeTH ¥ e AveaA & o S g 9 o9

Ans

forwr femm & maer &2

‘When a ray of light travels from a denser medium to a rarer medium, it bends:

Higrers | g T A g AT

away from the normal and speeds up

2 dfe=Hr AT AT g IS &
towards the normal and speeds up

| fEeEs @ gy o e B S g

away from the normal and slows down

&)

x

Question ID : 9864493224
Status : Not Answered
Chosen Option : --




~
towards the normal and slows down

| s # 3R Hm"‘mg%%bsalert.in

Q28 gel o= ReroiT et F Fr Aew §?
What is the mean of the first five Triangular Numbers?
Ans « 1.7
X286
<38
X 45

Question ID
Status

19864492557
:Not Answered

Chosen Option : --

Q2 gfE cosec® + cot® = 2 B AT cot § =7

If cosec® + cot@ = 2,thencotf =7
Ans x1_ 0

K205

<31

v 4075

Question ID
Status

19864493038
:Not Answered

Chosen Option : --

Q30 fyafr afefeF 2016 F AT F AT eg=@REH Hia o
Who was the flag bearer for India at the 2016 Rio Olympics?

e T A
Sakshi Malik
HiaT f&er
Abhinav Bindra
x 5, T Sgarer
Saina Nehwal

i Ry

P.V. Sindhu

v &)

x

Question ID
Status
Chosen Option

19864492270
: Answered
12

Q.31
fifors =1 oisw, T=f Aea A6t J§ 9 Ao #F e seEei B 87

Except Helium, all noble gases have how many electrons in the outermost shell?

Question ID
Status

19864493514
: Answered

Ans x 1 6 Chosen Option : 3
X210
v:8
X4
Q.32 T fhem eSS afafrs . . o
o TEFT e A 2017 7 S T 3 @ Question ID : 9864492303
o= A &7 Status : Answered

‘Which famous film actress and celebrity won the PETA ‘Person of the Year” award in
2017?

Ans x 1 Rrzesr @
Priyanka Chopra

v 3T STHT
Anushka Sharma

Chosen Option :

2




3. aqg
Alia Bhatt

X4 E

Deepika Padukone

<
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Q.33 2w a7 et # ¥ Her AT ST FT IIT Fi

People : Person

Choose the correct analogous word pair from the given alternatives.

People : Person

Ans 1. Fungus : Fungi
# 2 Cacti : Cactus
# 3 Radius : Radii
# < Nucleus : Nuclei

Question ID : 9864493753
Status : Answered
Chosen Option : 3

Q.34 R 71w woT & eueEE 96 3R @A¢ F @ e & & R SRR
Fer # § P g B

pfa® TEAW A, B C, D 3R E & ¥ R =W #i=-ar &7

EEGEUH

1. A, B, C, D 3R E wipias @& &)
2. B 3w T ¥

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Which of the natural numbers A, B, C, D and E are odd numbers?

Statements:

1. A, B, C, D and E are natural numbers.
2. B is a prime number.

Ans ‘, 1.
T 1T ge &1 e 37 & Forw ar & 1 sk & & 2 g B
Neither 1 nor 2 is sufficient to answer the given question.

<2

f&T 9T 99 FT I} oo & T 1 306550 9OeT &, SEiF 2 e qAeT Har
gl
1 alone is sufficient while 2 alone is not sufficient to answer the given question.
X3
T 9T Yo FT 3o & & [T 2 30eT gIeg &, FafE 1 3T g Fdr
gl
2 alone is sufficient while 1 alone is not sufficient to answer the given question.
X4
f&T 71T 99 & 3 3o & T 1 38t 2 @&t g §

Both 1 and 2 are sufficient to answer the given question.

Question ID : 9864493966
Status : Not Answered
Chosen Option : --

Q.35 dsfiiea wem # Tow sEaaTer 5 S aTel Ue IEomhies &1 3R T Jiels
W g€ AF & B (frustum) ST B e (frustum) 1 aed =mE 5
HEHRT 3 2 HeT &, U e # FAE 7 S8R & TRl go
She AT Ffaw|

A shuttle cock used for playing badminton has the shape of a frustum of a cone mounted
on a hemisphere. The external diameters of the frustum are Sem and 2cm, the height of the
entire shuttle cock is 7em. Find the external surface area.

Ans 1 74.30 F97 WEHRT
74.30 cm?

Question ID : 9864492591
Status : Not Answered
Chosen Option : --




, 74.29 T @R
74.29 cm?

, 80 = WY
80 cm?

, 73.38 T BEHT
73.38 cm®

x

v

x
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Q.36 & & <jwer &, fraw 8 4% § o s A IR B wEA & R A G
A aife 3 B T & qUE R 8§

563248889266588343

In the given series, how many 8s are there that are not divisible by the number to its left
but completely divisible by the number to its right.

563248889266588343

Ans x1_3
V21
X2
X4 4

Question ID : 9864494074
Status : Answered
Chosen Option : 2

Q.37 10 wemst # femst et a5g &1 Rew 7ew T440 ol T370 F a8g # A=
W fraer where & @i g

The selling price of an item inclusive of a 10% profit was ¥ 440. What would be the
percentage loss if the item was sold for ¥ 3707

Ans x 1.8
w275
X 3 8.4
X 4.6.25

Question ID : 9864492748
Status : Not Answered
Chosen Option : --

Q.38 arcdr veeie #e =9Er 7, feg et ARTERT & =7 9B S
T TUH AT ST a5t sfeee T E 39 @9 1w oA

Indian athlete Neeraj Chopra created history by becoming the first Indian to get goldina
world athletics championship. What was his sport?

Ans
x 1 e Tk
Shot put

| STl %
Javelin throw
= g

| Long jump

X 4 T %o

Discus throw

v

K3

Question ID : 9864492289
Status : Answered
Chosen Option : 2

Q.39 T v fyeedt & ¥ Fia Fafai@a T & 2 i yiawig &= F
e zwgea &2

122 + 345 -1 x 1011 = 337 = ?
Select the option that can replace the ‘?* symbol in the following equation.

122 +345-1x1011+337=7

Ans (1. 446

Question ID : 9864494121
Status : Answered
Chosen Option : 2




v 2 464
X 3 644
X 4 460
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Q.40 =EfEd Fegst #1 & vgfed o 30 foR a1 ¥AE 1fd & o= & &
T s & & FA1 FEernar 87

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called ;

Ans x1m

momentum

Question ID : 9864493619
Status : Answered
Chosen Option :1

Q.41 v =afFa q& #r 3T 10 Freefier ooar § o1 &% 3N 75 S 7, e 8
fraiteer Iorar § 3 fFT a8 3N 73 9mar ¢ 3i 6 RrdieT @oer €1 9%
safFd 3w Aol IR Rufy & fhw Rer & &7

A man walks 10 kms towards east. then takes a right turn and walks 8 km and again takes
a left and walks 6 km. In which direction is the man with respect to his starting position?

IR 99

r 0 N
North east
x ,, GIEoT afRaa
South west
| 3cc afeaH
North west

v 2 .q‘\é-

South east

x

Question ID : 9864493687
Status : Answered
Chosen Option : 4

Q.42 e Hfew % Fia w1 fswd /e 70 Fum F1 G907 3gewor w1 ¥

F
T gEdt ST @ A gewar 7 ar e wEere § el 7 & ar adet

U A AT FAEATHT F AN H TE A

forsd:
1. i St @ wge R ST R
2. |t At & e # e F BT wEr e .k
Decide which of the conclusions logically follow(s) from the information given in the

statement.

Statements

Poverty is increasing because politicians don’t understand poverty nor do they know
anything about the problems faced by the poor.

Conclusions:
1. All politicians should be replaced.
2. All politicians should be asked to live in poor conditions.

Ans - Faer sy 2 TTEIT FAT §
1.

Only conclusion 2 follows

Question ID : 9864493810
Status : Answered
Chosen Option : 3




x

Only conclusion 1 follows
1 3R 2 2t e w4
Both 1 and 2 follow
LA AR A & 2 T F

x

v

Neither 1 nor 2 follows

s g www.g?vtjobsalert.ln

Q.43 FreF Jerf F1 HFH=T g § Ukt F Forw fes 7 & 3w 3w =71 39=ier frar
ST ?
Which of the following gases is used to prevent food material from getting oxidised?

Ans x . a'?’ﬁ-ﬂﬂ
Chlorine
HESEC)
Hydrogen
HieFdr=T
| Oxygen

CIEE D)

Nitrogen

X2

X3

v 2

Question ID : 9864493209
Status : Answered
Chosen Option : 1

Q.44 Fiead Ta= Jeas Tarer Sifegae fEeislr frm AT g g ferelt
Tz &7

The science fiction book ‘The Extra-Terrestrial Delivery” is penned by which Indian

author?
Ans x1_ﬂ‘ﬁhﬁr TMEer

Namitha Ghokhale

V2 Paa‘?" ardg
Sudipta Das

X 3. 3T é“ 1
Anosh Trani

x s TG =Y
Samit Basu

Question ID : 9864492331
Status : Not Answered
Chosen Option : --

Q.45 2t wEsit # qUEEa 0.432 ¥ A v W 1.6 @ af gud o 32

The product of two numbers is 0.432. One of the numbers is 1.6. What is the other
number?

Ans x 1.927
v 2027
” 327
# 4.0.027

Question ID : 9864492961
Status : Answered
Chosen Option : 2

Q.46

Question ID : 9864494133
Status : Answered
Chosen Option : 4




SR |1V e To lVa o Lo IS STy M1y

+K [
OB
|| 2

Answer Figures

S

B C D

FaT =T - Problem Figure
3cat &9 - Answer Figures
Select the Answer Figure that fits in the blank space in the given Problem Figure.

Problem Figure
B £
QOB
Pl| 2
Angwes Figanes
Il ||
A B C D
Ans x 1. D
X2 A
v:B
X4C

Q47 faw 17 eeal & Fafdd Er & HRR W NS e I

m:w::ﬂaﬁz:

Select the missing word from the given related pair of words.

Ancient : Old :: Bedspread :

Ans E?EI'

Question ID : 9864494239
Status : Answered
Chosen Option : 2

48 ATl # & ie T T 1 =1, & HIeT 1 Hohell 87
The metal that can be cut with a knife is:

Ans «1. m

Sodium

Question ID : 9864493111
Status : Answered
Chosen Option :1
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Aluminium

X4.3ﬂg‘r

Iron

QO RTMTEA R TR FH IR AT IF T F s A FRrR= I )
Question ID : 9864493653
He @1 Fue gA@oT B
Status : Answered
mARE # Y wET o Te $ A Z # i & o e T 9% Clrigetei Olgillem -2
goraT e =nfge?
FU:

1.:§rzmmmq?§agﬂ:1oas‘rq§‘awz‘n
29®F 1 5o vF ¢ & 3R s e A F 12 W= d

Consider the given question and decide which of the following statements is sufficient to
answer the question.

The trains are very punctual in Malaysia. For a maximum of how long should Mr. Z wait
for the train?

Statements:

1. Mr. Z had reached the railways station at 10 a.m.
2. There is a train at 11 a. m. and the next train is at 12 p. m.

Ans x1_
HFAT FUT 1 gUTT § T HFaT FUF 2 JIATT gl

Statement 1 alone is sufficient while statement 2 alone is insufficient.

(Zaﬂ?fr Faa 1 3T 2 qaT=F 2|
Both statement 1 and 2 are sufficient.
, I7 & Fue 1 gEied §ar 2

>
Either statement 1 or 2 is sufficient.

X4
e HUT 2 TATT § AR e 1 HUT 3TITT

Statement 2 alone is sufficient while 1 alone is insufficient.

Q.50 T & 7 uAF WHfT F FaA T TR TN TG AT TAE TABC| 3T AE

& we AT e wg ¥ Question ID : 9864493751

Status : Not Answered

@ @ @ Chosen Option : --

Use each of the below figures only once and form three groups. The three groups so

formed are:

4 5 3

o=@
Ans X 1.(1,3,8), (2,5,6), (4,7,9)
x2(1,5,9), (2,3,6), (4,7,8)
v3(1,3,9), (2,5,6), (4,7,8)
x4(1,3,6), (2,5,9), (4,7.8)
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Q.51 it amer forw oty & ofewalt & Afshe & o3 & Ffomt dar e € 2
In which of the flowering plants are buds produced in the notches along the leaf margin?

Ans x1a_m-r

Banana

SIATHIST
Bryophyta
FAHISAH
Bryophyllum

x o, T T R
4.

Rose

X2

" £

Question ID : 9864493317
Status : Answered
Chosen Option : 2

Q.52 7= forelr Fgfaa et &1 orgr s o ffes =t & Fw s 7
afEfda &= 82

‘When a compressed slinky is released it converts potential energy into:
Ans Titys FAT
F !
Mechanical energy
FSHT F=AT
X2
Heat energy
X 3 A& Far
Chemical energy
| et =i

Kinetic energy

v

Question ID : 9864493582
Status : Answered
Chosen Option : 4

&% gy @ aoTTE g E:

The molecular formula of Propane is:
Ans  of 1. CsHg
< 2. C;H,
< 3. CH,
X 4 C4Hyo

Question ID : 9864493152
Status : Answered
Chosen Option :1

Q.54

Question ID : 9864493676
Status : Answered
Chosen Option : 1




AVAVAVAYAVLY)
% =T Y AL
a4 | e | @R | W

2001 | 1,500 | 200 | ¥500 | £100
2002 | 2,600 | T300 | T600 | T200
2003 | ¥3,200 | 150 | 700 | £150
2004 | T4,100 | 250 | T650 | T125
2005| ¥5,000 | 200 | ¥800 | 150
2006 | ¥5200 | 100 | 750 | T175

ovtjobsalert.in

gfar a¥ stEa 3=, a¥ 2001 - 2006 &F e Fa=r 2l

Year Items of Expenditure
Salary | Food | Medicine | Tax

2001 | ¥ 1,500 %200 | T500 100
2002 | ¥2,600| %300 | T 600 < 200
2003 |¥3200| %150 | T 700 7150
2004 | T4,100| %250 | T 650 T 125
2005 | T 5,000 |3200| 800 < 150
2006 |¥5200]|%100] 750 175

The average salary per year during period 2001 - 2006 is:

Ans  of 1
X2
X3
p S

3,600
3,400
3,800
3,500

Q55 g foveer e FIFrT i1 2 & 33 & 3P0 § R a‘g%@fm%l

Find the fraction which is as much greater thang as it is less than 2:

ans o
X2
Vs
x4

59
85
58
84
59
84
24
59

Question ID : 9864492542
Status : Not Answered
Chosen Option : --

Q8 Rrafofla # & FiT & G & &g A Alsg a1 87
Which of the following is present in the centre of a flower?

Ans

v &)

X2

3ET
Carpel

IS &HET

-

Question ID : 9864493358
Status : Answered
Chosen Option :1

Q.57

Question ID : 9864493941
Status : Answered



s 3 = i “:
a8
[0 —— Bow ) ——=  Aenc
P e R

£

Boys - @5 Girls - @8RRaT Athletic - RE@T#r Disciplined - arganfaa

F{ faU 10 A 3@ A, 37 GEm3H! # FE der § S 39 Rentzat @
geier & S arganfa =& &2

S : f :
s
] ——  Boys oy — Athletic

N —— Gl ] ———= Disciplined

@

In the above Venn diagram, what is the sum of the numbers that represent all those
athletes who are not disciplined?

Ans X1 27
<211
V316
<413

WWW. govtjobﬁalert. 1N 056n ption 2

Q.58 Ffy 2sec?x - tan®x = 5 AT 0° < x < 90° & &Y x &7 AT FIT &7

If 2secx - tan*x = 5and 0° < x < 90°% thenx =?

Ans x 1. 300
#2900
X 3450
v 4 60°

Question ID :
Status :
Chosen Option :

9864492837
Not Answered

Q-59a¥ﬁhﬁﬁmmﬂ§%|3ﬂﬁﬁw%%|@ﬂ‘mﬁrmmﬁ?

The sum of two fractions is E. One of them is %. ‘What is the other fraction?

Question ID :
Status :

9864492901
Answered

Ans x 1 5 Chosen Option : 4
5
2
X2=
2
1
X3 =
10
1
v =
12
Q.60 frdl el &l YIHITUaS geadnsT 12 Ao & 4 §1 9% &
&M MR el Question ID : 9864493408
1 #er (mole) & fow WrT & & e a1 Foel @y §7
Status : Not Answered

Atomic mass of Carbon 15 12 and that of Helium 1s 4. State which of the following
statements is true for 1 mole of each of the elements?

Ans x1.
&ifer# &1 1 #iel (mole) #, FeT & 1 Al (mole) & 3 I 3ifde TwaAM
Gl

1 mole of Helium will contain 3 tumes more atoms than 1 mole of Carbon.

v 2

Chosen Option :




rder & 1 alr (mole) %, & & 1 m}!n\é}g}%gg%japﬁalert.in

A gt

1 mole of Carbon will contain the same number of atoms as present in 1 mole of Helium.

X 3.
@l & 1 Hiel (mole) #, gFerad & 1 #Hiel (mole) ¥ AT HT HE&dr TH
[GHERE]

1 mole of Carbon will contain one-third the number of atoms present in 1 mole of Helium.
X 4.

@Idet 1 Hled 1 (mole) #, AR & 1 Ad (mole) A 3 &1 Jfde qeAw]

g

1 mole of Carbon will contain 3 times more atoms than 1 mole of Helmum.

Q.61

aftr & T175 # 9 F v ¥ @I Weg [ TIF A Ted = F
3T S 7161 F 4 feam A = Reme gfene #r @l 892

Deepti bought a set of cups for T 175, but then had to sell it later to clear old stocks for T
161. What is the percentage of loss that she had to incur?

Question ID : 9864492688
Status : Answered
Chosen Option :1

Ans «1_ 8
<216
X514
X4 7
Q.62 900 #eT #T v ls H, W foTar F 270 AT & AT g F¥ 340 HX F Wi

FTT &1 50 ats 3 P Tger Y bt of1eT & ST S o

In a 900 metres race, Sathish beats Kiran by 270 metres and Rahul by 340 metres. By how
many metres does Kiran beat Rahul in the same race?

Question ID : 9864492610
Status : Not Answered
Chosen Option : --

Ans X1_ 70
X 220
X 3.140
v 4 100
Q.63 =A@ & & #i9 @1 vF Wk & 9 # 9i T 99T 9reg FIaT & ?

‘Which one of the following derives nutrition from plants as a parasite?

Question ID : 9864493296
Status : Not Answered

Ans x 1 m <kl q]\_JﬂdT Chosen Option : --
Malaria Parasite
vz hHFCT (Cuscuta)
Cuscuta
x 3 ST (Bryophyllum)
Bryophyllum
x4
Lice
Q.64

Question ID : 9864493680
Status : Answered
Chosen Option :2
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Problem Figures
g i g 8080
/N Q ?
A B C D
Answer Figures
M|\ -
C ¢ ¢ O (M ¢ <O
1 2 3 4
Choose the correct figure to replace the question mark.
Problem Figures
U i g 809
/N Q ?
A B C D
Answer Figures
SRy -
C ¢|¢ O <A>\-/; ¢ O
1 2 3 4
Ans x 1. 4
X23
v 2
X1
Q.65 , TF HEAH BT &, S 3 T W @S § @ G| G H _ .
st fa avan e Question ID : 9864492113

» @ Muslim saint, lived at the place where Fatehpur Sikri was built.

Ans CEICAGECIED
F ! =
Nizamuddin Auliya
) TR =T dgerer
Nasiruddin Chiragh Dehlavi
Vs I FellH T=redr
Sheikh Salim Chisti
CICIR TR TALE
Baba Fakruddin

x

X4

Status : Answered
Chosen Option : 3

Q.66 zfy fomelt =afaa @ TeoH T TEG F TWEHT W 25% @ W 4T T A
arg & fawa g W=

If a person bought an item for ¥ 60 and sold it at a profit of 25%, the selling price of the
item would be:

Ans of 1.3 75
X 2. 80
K3TT2

Question ID : 9864492788
Status : Answered
Chosen Option : 1
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Q.67 i W 3cal-H1pia (Answer Figure) &1 12 Wo HIpTa (Problem Figure) &7
T S At 37

Problem Figure
Answer Figures
f
=R =l
v - v
A B C D

Which of the Answer Figures is the correct water image of the given Problem Figure?

Problem Figure

=

Answer Figures
1
" v "o

A B C D
Ans X1_C

v2A

~< 3B

X 4D

Question ID : 9864494057
Status : Answered
Chosen Option : 1

Q.68 PrATRRT & THla ¥ &5 & 9o 5T & v 3=oaq eaaar &2
‘Which of the following regions has the highest potential for wind energy?

Ans 1 TFFT F TIT
The Deccan Plateau

) T F He
Gangetic planes

.%mmqéﬁ

X

| Western Ghats

Question ID : 9864493145
Status : Not Answered
Chosen Option : --

Q.69 eafargara 333 ms™ FraTe I AT FIE & ST IS, 1 D H, 333 A Fr gl
rus g AT Hr AT g

Sound travels at a speed of 333 ms~! in the air; thus, in 1 s, a distance of 333 m is
travelled by:

Ans FROT
1.
particles

X2 ATIER
receiver

X3.m

source
arenfer
disturbance

v

Question ID : 9864493083
Status : Not Answered
Chosen Option : --
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Q.70 v 150 #Hex 7o =7 54 freheier 9fd o $r wan & T ge

Ans

reET B 42 FEE & 9K T A ¥ A et #r e waw i

A 150 m long train, travelling at 54 km/h, crosses a platform in 42 seconds. What is the

length of the platform?
x 1540 HeT
540 m
480 HreX
480 m
780 HIET
780 m
630 HIET
630 m

v &)

K3

< 4

Question ID : 9864492830
Status : Not Answered
Chosen Option : --

Q.71ﬁﬁ@$ﬁﬁmm§¢wﬁvﬁmﬁ:mﬁfﬁawﬁ;ﬁ%

e gv FiF & forad T 51w #

FYT:
Fo ifewar @ )
Tl ear gieA= g £
e
1. wafr fEmer gfeae &
2. waft =y sfEear &)

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Soime actors are businessmen.

All businessmen are intelligent.

Conclusions:
1. All actors are intelligent.

2. All businessmen are actors.

X11 3 2 Sl TTEIT A B
Both 1 and 2 follow
Faol folsay 1 37JHEIOT AT &

Only conclusion 1 follows
3
7 ar 1 3 7 & 2 TEOT FaT B

X2

Neither 1 nor 2 follows

ol foTshy 2 HJEOT T &

Only conclusion 2 follows

< 4

Question ID : 9864493756
Status : Answered
Chosen Option : 2

Q.72

Ans

T AR FRTsR TR Tean g R aw gar ¢ | B, =2
¢ FEA §, 4 e H gl W T ¢, 9O¢ F35A § 3R 6 e 7%
T §1 3w R e #r v g R g

Samarth heading towards north turns right after walking 10m, he turns right again walks

for 4 meters and then he turns left and walks 6km. In which direction he is walking?

x 1 o
West

Question ID : 9864494287
Status : Answered
Chosen Option : 4
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Q73 & 7§ s = w ¥ R s W Tt & g
?'I- ™ S TR Question ID : 9864493924

Status : Answered
Chosen Option : 1

The minimum number of straight lines required to construct the given figure is

Ans x1_ 9
v 211
X310
X412

Q.74 Fr=x o w 2.5 M 6T o § S AR Ff B d5ow Al & geiar g
e 7y witeg At ofaEfaes ant e s age & e

‘Freedom Trail’ is a 2.5 mile long passage that offers a rich insight into the American
Revolution. Tn which US city would you find this famous and historic trail? Chosen Option : --

Question ID : 9864492122
Status : Not Answered

Ans m
F !
Denver
v 2 e
Boston
C = T
Connecticut

ATFEE

Memphis

X3

X 4

Q.75 frer wifdfa & 5 =¥ oier 31 8 a¥ wger Brr ¥ 37 H A T S F 57 F
A= @ 10 a9 e o1l Ry & adAe 5H w2 g

Krish is 5 years younger than Parthiv. Eight years ago three times the age of Krish was 10 .
more than twice the age of Parthiv. Find Krish's present age. Chosen Option : --

Question ID : 9864492752
Status : Not Answered

Ans
x 1 32 g
32 years

3339

33 years

30 I
30 years

28 9
28 years

X2



